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UNIT-1: MODERN HISTORY OF INDIA AND INDIAN CULTURE
SECTION A 4x10=40
Answer all the questions. Answer not exceeding 150 words each

1.  Trace the origin of the theosophical society. Indicate its significance in the history of Tamil
Nadu.
Wy eprefser gemuulear CHTBBHMmS euenys. LIJIDIOEHTET FenLI  6T6IBTED  616d6 ! HLODBHTL 196D
SIHET (PEHFWHFluSHmeH UBs SBLLIGHS.

2. Enumerate the Main provisions of
a. Lucknow Pact of 1916.
b. Communal Award of 1932.
Letteu(heueTeuBplelt (LSS FnmISene LI 1I9uledl(hd
a. euaBam 2 L egdhms, 1916
b. a@liuans @&IHEB, 1932

3. Evaluate the contributions and significance of Thilak of South India in Indian

Independence Movement.
OhHw alBHmev BuIbsHHe0 OFHerealbaHlwmalear Heosfer Lmseiy OBEBID (PHHUSHHISHMDH
HIIG CFuis

4.  Compare and contrast the features of Government of India Act 1919 and 1935
ObhHw SPFTHRIEF FULD 1919 wB@ID 193561 FABLLDFRISM6T QULILG UT(HHRISET.

UNIT-1: MODERN HISTORY OF INDIA AND INDIAN CULTURE
SECTION - B 4x15=60

Answer all the questions. Answer not exceeding 250 words each

5. Explain the Socio-Economic impact of British Rule in India.
AhFHwraled oymdev QL Fwmed gBULL Fepd - QUIHMTHTTES SHTdHamidmen aleu.

6. What was the political set up aimed by the British Government for
India after the World War I1?
@rewiLmb o evall Bummdg UBE eluglulL  op& @hHureled  Semwwl  CeuemtBOLDeT
SRIFHCoW oI alhHLIwg?
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7. Discuss the contributions of Madras Native Association, Madras Mahajana Sabha and the
Nationalist Press to the growth of Nationalism in Tamilnadu.
SODBTL 1960  CHrAweaursdHHer euenT&ddeE OCFaimeatauTdael gFmisD, OCFaene LDHTR6ET  FenLl
wpoid Cafwears usHflews FlweuBper LRsefiLSmen LB alleursdaa]b.

8.  Write a detailed note on the influence of Tamil Language and Tamilnadu on Gandhi and
his freedom movement.
&MHYH OBBID DeuIH alBhHmev BuissHHer g SO Goml BpId SODHTL 19T CFe06uUTSHE)
ups elfleurs e1p&IS

UNIT- II: SOCIAL ISSUES IN INDIA AND TAMIL NADU
SECTION A 4x10=40
Answer all the questions. Answer not exceeding 150 words each

9.  Bring out the role of N.G.Os in social development of Tamilnadu
SODHTLIQEL Fepd aUeNTFFSEG DTHFTIT Hipleuemhiseaien Lmiensd GeueNosmeamntiTs

10.  Enumerate the organizational structure of community development program.
oays GbUT (G L SHFHar Hipeuer s Lemwlll uBsl afleud.

11.  What is regionalism. What are causes of regionalism and suggest remedies to eliminate
regionalism
ImhHw 2 _6wiTeYy  6TEIBTED 61N DISMHTT  SIJEWIRIG6T WBBID  LIIThHul 2 _eurTalene
SblugBater SHralemer Lflbalengdseab

12.  Discuss the Socio-Economic impact of COVID-19 in Tamilnadu.
SUPsHH60 Camall -19 CLEHBOSTBBI gBUBSHW Fepsll CUTHNTHT] STHED GBS aleuTd.

UNIT- II: SOCIAL ISSUES IN INDIA AND TAMIL NADU
SECTION - B 4x15 =60

Answer all the questions. Answer not exceeding 250 words each

13.  What is population explosion? Do you consider population explosion as an issue hindering
economic development or as a resource for national development? Explain.
&HHTOSHTMS  CeugliL]  6IIBT6D  6laiie! OSSO TeNd  Geugli] BT — GUT(HENTSHTY

(WPICUBBHMS LTHSHMBH  OIGLLVH BT IgeT  (LPITCBBHHMBES 6U6TIOTH  SIEHIDHMSH  6T6TB
aTewtamIBNTaenT? aleufldbs.

14.  Discuss the school education system in Tamil Nadu and explain the role of government in
providing quality education.
SODBTL 1960  UelTell  &Heval (pemmedwl aleurdl. SHIOTer Heval aIPHIGaISHD DFFleT LIS ener
allend@Hs.

15.  What is urbanization? Examine the causes, effects and future trends of urbanization.
BBTLOWIDTHED  6IGIDBIT60 616367 [HBJLOULIDTHEVHHTE — HMJewID, allenena] LOBEBID  THTHTEVLD
GuraiBeuBenmd SLU16e| CFUIS.

16.  Critically examine the special welfare measures available for women and children.
QUIETHET LOBBID GHLOHMBHHET HEVENISHHTET FBLIL [HLAUYHENHHEN6T DLTTUISH.
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UNIT-III : GENERAL APTITUDE & MENTAL ABILITY (SSLC STANDARD)
SECTION A 2x10=20

Answer all the questions. Answer not exceeding 150 words each

17.  Answer the following questions
LeiTeu(hlD aeTehEEhdbE alenL U6l

a. A car travels 90km in 2 hours 30 minutes. How much time is required to cover
210 km?
QM WwaHWHH 90 &b FMTSMBE &_5H 6bBSHHH0HTeNEHD By 2 wewll 30 HILOL MISHET.
963 waWha 210 &6 HMIHNHS &5 1BHHHCHTeTEHD CHILD el6ileueTe,?

b. If a principal is getting doubled after 4 years, then calculate the rate of interest.
T SiFeuTaIdH 4 SLemiBHeiled @Tewi(h LOLMRISTHBSH 616160, ULl HHMHdH SIS

18. A fruit vendor bought some mangoes of which 10% were rotten. He sold 33% %of the

rest. Find the total number of mangoes bought by him initially, if he still has 240
mangoes with him.

@ up elwrumf  eutmdw  wrbUpEseisy 10%  oiwpdulmbaer. s weTeneaumsied 33%%

mbLpmisenet alBmiellLmr. $B6uTsl 240 wmbupEseT Seuflld mebdlamen 6aile, (LWHe'ed
ST euTRISW GILoTS S  LOMDLILPEISE6T  6TeuT6mNSemBeNUISH  SHT6wIH

UNIT-III : GENERAL APTITUDE & MENTAL ABILITY (SSLC STANDARD)
SECTION - B 2x15=30

Answer all the questions. Answer not exceeding 250 words each

19. In the Annual sports meet, among the 260 students in X standard in the school, 90
participated in Kabadi, 120 participated in Hockey, and 50 participated in Kabadi and
Hockey. A Student is selected at random. Find the probability that the student participated
in
i Either Kabadi or Hockey,

ii. Neither of the two tournaments,
iii. ~ Hockey only,
iv.  Kabadi only,

V. Exactly one of the tournaments.

oemi®  allememwim (B Gumiiguied 108 eu@lied ugsSHep 260 wreaeTseflsd, 90 Gui Uy
Gumiiguisvid, 120 GuT eamrshadl Gumiuieud wBEWL 50 GuT Gyewi® Gumluied SHevbHIA
CBTETHSIMBETT. @(H LOTEwTeUET FLoaUTUILIL] (Wempulled BHTHOHBHBLILGH IBT6. BHTHOHBHGLD

LOIT 60T 61631
1. BUY SI6V60FH aBTHd CUTL1pHefled Hevba I GCETeTeusHBaTe
ii. Brewih Bumiguieud HevbEH GCBTETEMTIDED  E)(HLILIGHBEHT 60T
iii. amThHUled LB HevbhH CBT6TeUBHBSHTEN

iv. &LIQuUiled L (BLD H6evbhEHI OBTETEUHMBETE

V. giwng eainled LB HevbdH OBT6TeUSBHT 60

PEHDHHE| HT6wIH
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20.

Answer the following questions
Leau(pd eMemmebdEhd@ alenl w6l

a. In a parallelogram PQRS (see the diagram) PM and PN are the heights corresponding to

the sides QR and RS respectively. If the area of the parallelogram is 900 sq. cm and the
length of PM and PN are 20 cm and 36 cm respectively, find the length of the sides QR
and SR. P S

36 ¢ N

S
o
]
~

QM R

PORS eaiug @ oewiafh (ULHmeHd sauaiss). ussbd QR @ear o wgb PM, udsb
RS @61 2wy PN. @ewewiarsder ugliena 900 &.0s.15, PM wpmidb PN &6 sieneasel
wepBuw 20 GF.15, 36 QF.16 aaied ussd QR wBpd RS Gt oemmeald STewis

p S

36 a8 N

20 a8

QM R

. A cricket team won two matches more than they lost. If they win, they get 5 points and

for loss (- 3) points, how many matches have they played if their total score is 50.

@ L lubs oewfl (cricket team) sevpbaICsTaRiL  CUTL wsaflsd, CaTBBmE ol &
S LHIG6T SIFHsns Ceuapriser. Geuppslad 5 yeellaend, GCsmevaldd (— 3) UsTefaemnbd
APERIBILGHS DAL DbH Senl  CTHHHH 50 LeTenseT  QUBBIBHSTR, b  Siew
BHeUHSHIOBTEWIL D" L MiH6iT6n eTewIcnlldendamuis STewIsb.
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